. MATHEMATICS LEVEL IIC -
: Timef-éo minutcs :

- [
-

For each of the follow ng problems, decide which is the BEST of the choices given. If the exact n_unicrical value is not
one of the choices, select the choice that best approximates this value. Then fill in the corresponding oval on the
answer sheetl. : .

Notes: (1) A calculator will be necessary for answering some (but not lﬁ) of the quesﬁom in this test. For each question
you will have to decide whether or not you should use » calculator. The calculator you use must be at Jeast a scientific
calculator; programmable calculators and calculators that can display graphs are permiried.

(2) For some questions in this test you may have to decide whether your calculator should be in the radian
mode or the degree mode. : .

[

(3) Figures that accompany problems in this test are intended 1o provide information useful in solving the
problems. They are drawn as accurately as possible EXCEPT when it is stated in a specific problem that its figure is
not drawn 1o scale. All figures lie in a plane unless otherwise indicated. 4 ‘

(4) Unless otherwise specified, the domain of any function f isassumed 10 be the set of all real numtm;s/x"" B
for which f(x) is a real number. ' _ ‘ P
. (5) Reference information that may be useful in answering the guestions in ihis test can be found on the page
_preceding question 1.* . ‘ : :

'USE THIS SPACE FOR SCRATCHWORK.

1. if /4 = 3x = 3, what is the value of x? ' o o ' . o Y

(A) ~82.33
(B) —79.67.
- (C) =175
M o9
(E) 8233

| .
2. 11f(a, b) = 232, which of the following is equal
10/4,8)? 3 :
(A) f0.6) L
(B) /(1,6) | |
(©) /(4 - . .
®) /(. 1) .
® 73.9) . _ | :

-
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. The graph of which of the following equations has a
slope of %?

W y=3

(B) y = &x

©y=2x+1

®y=x + 3 .

®y=3er

s, I f(x) = x + J/xand g(x) = (X)), then g(1.7) =

(A) 1.7
(B) 3.0

. (€) 47

(D) 6.9
(E) 9.0

USE THIS SPACE FOR SCRATCHWORK.

60 OM YO THE NEXT PAGE



6.

(=1
Foullmvio-—ﬂ-

M
. w

{A) 1 ’
@B m-=-1

. The graphof y = bx — lhupomtsmtheﬁmquad-
_rant if and only if

(A) b #0
®) b < -}
© -1<b<l
D o<bd<!
€ b>0

‘v = anx _
Iftan x = 5, then -0

Wi ®m ©s o @®2

MA’I'HEMATlCS LEVEL OC TEST—Contmucd

USE THIS SPACE FOR SCRATCHWOR.K.

G0 0N TO THE MEXT PAGE
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MAT]-IEMATICS LEVEL j 1 {0} TEST—Contmucd

oo ' USE THIS SPACE FOR SCRATCHWORK

o SEEE = gandif ofe # 0, which of the following is equal to w?

REL S

L
(g)_‘_"’iu

. (D)a-l-bc-t

a+ be —

® z

10. If the probability of a certain event occurring i is % ,whatis
the probability of this event pot occurring?

wi @3 ©f of ®3

. O
NIUx=19 =19andx 2 O, then x =

Ao

(B) 208 .
© 242 )

(D) 4.36 _ k]
(E) 616

j €0 OX TO THE NEXT PAGE -
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- (B) 0.20

(E) 315

13.

'MATHEMATICS LEVEL IIC TEST—Continued
| ) | 'USE THIS SPACE FOR SCRATCHWORK.

In Figure 1, if 6 = 38", what is the value of ¢?
(A 0.1S '

(©) 246
(D) 3.13

.Fx;ml _
" Note: Figure not drawn to scale.

Joehasatestlvmgeoﬂ?inmathemaﬁa.lfhism '
average makes up 70 percent of his overall grade and the
final exam makes up the remaining 30 percent, what must
behisﬁmlenmscoretogivchimmomllmdeol‘ '
exactly 90 ? ‘

(A) 91

T (B) 93

(© 95 ' | o .

- (D) 97

14.

® 9

An operation is defined on pairs of integers by

(@ b)V(c.e)=(a—e. b~ e)lf

[(1,2) V (=3,6)] V (x.y) = (1, 1), then (x, ) = ' ‘ :

- (A) (5.=3)

164
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15, fcos £ = 5, what is the value of cos 247

(A) 092
® 0%
© 028
® 015
(E) —0.83

16. Which of the followirig is & zer0 of f(x) = 2¢% = 3x — 12

(A) —1.00
(8) 028
. © 030
(D) 178
" (®) 356 -

{7. What is the number of digits in the number obtained by
multiplying 12,121,212 by 3,579?

(A 4
(B) 9
© 10 -
(123
(E) 12

USE THIS SPACE FOR SCRATCHWORK.

GO 0N YO VHE NEXT PAGE.




MATHEMATICS LEVEL IIG TEST—Continued

" USE THIS SPACE FOR SCRATCHWORK

lsl. Hlogx3 = 9. then x =

(A) 0.50 . S
®) 1.13 : : .
© 122 ' -

(D) 2.00

(E) 2.08

19. Which of the following is a point at which the ellipse
’-;’-r% o 1 intersects the x-axis 7 |

(A) 22,0)
®) (3.9.0)
C) (4.5.0)
(D) (50.0) !
(E) (15.0,0) :

P 20.Thefunctionfislivenbyf(:)--x-[x],whm[x]il '
defined to be the greatest integer that is Jess than or equal
tox.fl1£x< 2, then f is also given by f(x) =

Wx-2 ®x-1 Ox O=x+1 E)x+2
| )

G0 OM TO THE NEXT PA
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' Mxmw.mcs LEVEL IIG TEST—Continued

21. In Figure 2, rein 6 =
(A) x .
@y

. USE THIS SPACE FOR WORR.

x
©y
o
E) x+y

2. Whatulheremmnderwhenlx‘ 3x?-x +3is

divided by x + l?

(A -3 . .
(B) “‘ . ‘
(o

@) 2

E) 3

. In Figure 3, what is the length of segment AC?

(A) 4.47
(8) 500
€y 5.39
(D) 6.23
(E) 9.00

A(0,0,4)

G0 ON YO THE WEXT PAGE
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. ™

What is a value of cos(arcsin 0.90) ?

(A) 0.4

(B) 0.58 :

C) 0.67 .
(D) 0.7

(E) 0.90

_ What is the area of a triangle 'whose vertices are /2. 0),

. (@ /10),and (5,0)?

(A) 3.5
(B) 5.67
c) 191
(D) 11.18

(E) 11.34 | - L

Ifx =T —landy = 1}, whatis y intermsof x?

C(A) x+

168

® -1
© x+ 1P
D) (x - 1) .
(E) x*+1

" MATHEMATICS LEVEL IIC TEST—Continued

USE THIS SPACE FOR SCRATCHWCO

N YO THE BEXT.




MATHEMATICS LEVEL IIC TEST—Continued

27, Whatis the maximum value of f(x)= 4 — (x = 177

. 1f a certain prbduct now worth 3450 increases in value at
the rate of 8 percent per year, how much will it be worth
6 years from now? .

(A) $630
(B) 5661
(C) 5666 -
(D) 5714
(E)' $T71

. The 1st term of an arithmetic sequence is 3 and the 5th
term is 17. What is the 150th term of the sequence?

(A) 4202
B) $21.5
(©) 524.5
. (D) 5280
(E) 698.3

.
-t
.

USE THIS SPACE FOR SCRATCHWORK.

GO DN YO THE NEXT_PAGE



\ ' MAT}IEMATICS LEVEL IIC TEST—Couta'niwd

o " USE THIS SPACE FOR SCRATCHWORK..

30. The cosine of an angle is one-half the sine of the same
angle. What is the tangent of this angle?

(A) O

® 3 | | L
©1 | |
) 2 | ‘

(E) It cannot be determined from the information given.

—tg

31. The graph in Figure 4 could be a portion of the graph of
which of the following functions? '

LfG)=x'+ax’+bxtec , . -
ll.g(x)-x’+mt’+bx+c ' . - / /
L AG)=x"+ab + b’ +cxt + ) +ex’ + fx + g 7' F o
(A) 1 only o - . . I\/ ;\/

(B) 11 only ~ . . ‘ . _ )
(C) 111 only .

11 and ITI only
(B) 1,11, and IR

32 A right circular cylinder bas radius 3 and beight 3. If 4
- and B are two points on its surface, what is the maxi-
: mum straight-line distance between 4 and B?

Wi BT O6 ®3F ®3V2

170
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33, Whatkﬂudepamnofﬂumaﬂstpoﬁﬁnmﬂe
@ for which 6 5in’@ — snf-2=0?

(A) 96
(B) 15.5
0°

34. The graph of x> = y* = 2% — 4y — 4 = Ois 3 hyper-
boheemeredlt o
-(A) ('l -2)
®) (-1
) (L "2)
D) (1.2)
(E) @D

3s. Whuchof the l'ollomng could be a portion of the gnph
. °ff(x)-——f—?

- (B)

© 1 ©

WEMHICS LEVEL IIC TEST—Contmued

USE THIS SPACE FOR SCRATCH'W ORK.

&0 ON TO THE REXT PAGE




2c B 2c 2c & 2C

MATHEMATICS LEVEL IIC TEST—Continued

N 36. If g is an integer, which of the following must also be an
integer? : '

Wr-r ®p+r O Ow ®F

37. A function f has the property that whenever x; > x),
then f(x)) 2. (x,). Which of the following could be the

_graphof f?
U ?
(A) \ (B)
AN o] —*
- 2
® t
— —"-5/\ .

Y .
®)
- X
ol -
72

USE THIS SPACE FOR SCRATCHWORK.

G0 ON TO THE NEXT PAGE
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38.

-39

MATHEMATICS LEVEL IIC TEST—Continued

The two circles x2 + y2 = land

(x _ﬁ)zq-(y —ﬁ)’- 1 are tangent to each other. '

What are the coordinates of the point of tngency? .

(A) (0,0.71)

(B) (0.5,0.5)

() (0.7,0) .
(D) (0.71,0.71)
(E) (1.4, 1.41)

2 -
Whatis fm Ey3E=1
x==2 X< 4
.(A) 125
(B) 10
{C) 0.5
oo

(E) The limit does not exist.

. A function f is an even function if, for all values of x in

the domain, f(=X) = J(x). Which of the following is
an even functiop? A

(A) f(x) = 2% >
(B) f(x) = x*+x
©) f(x)=x

(D) f(x) = sin X .
(E) f(x) = cosx

st g

 USE THIS SPACE FOR SCRATCHWORK.
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Wouumﬂfromthenmepoim P and travel along

separate straight highways. If these two highways origi-
natc at P, forming an angle of 80°, how many
apan are the two cars after each has traveled 110 miles?

(A) 86

- ® W

T oA

43.

174

(C) 156
(D) 191
(E) 220

The shaded portion in Figure 5 shows the graph of

W o-no+nz0
® @-20)(+x)s0
© 200 +x) =20
@ +20 =50
() {y+2x)(y—x)zo

If fia) = Jn, what s the least integer m such that
1) <000017

A 9

(®) 10 .
© 1 |
D) 12 I 2
() 13 - :

P -

MATHEMATICS LEVEL IC TEST—Continued

USE THIS SPACE FOR SCRATCHWORK. %

G0 ON YD YRE NEXT PAGE
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MATHEMATICS LEVEL IIC TEST—Continued

Inright AABCin F’guuﬁ.'m“ +;°' B;

which of the following?

uequnllo

2a 2b

‘e 2
w2 ®mEE OF @T ®F

(E)

What is the volume, in cubic centimeters, of 8 recunguhr ,

solid that has faces with areas 2, 4, and 8 square centime-
ters?

(A) 128 (B) 64 (O 32 (D) 16 (B) -

. For every positive number /, a function f is defined by

L x<0
Jix) = l-(%)x. OSk‘s t
' -0, ‘x> L.

Ife> s.thenfr(l)-

Ao (n)t © - (D)'” ® =2

In Figure 7, ABCDE is » reguhr penugon with side of
lengthz.Whlluthex-coordlmteof D1 .

(A) 2.62
(B) 3.62
©3n,

o

USE THIS SPACE FOR SCRATCHWORK. .

TAGLD)
Figure 7

GO ON.YO VHE NEXT,PAGE-
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48.

.49,
. (A) 0.80

MATHEMATICS LEVEL IIC TEST—Continued

If 7 is the function with domain [0, 12] and range [0, 1]
whose graph is the line segment shown in Figure 8, what
is /7'(0.4)7

(A) 30

(B 48
(C) 25
(D) 0.2
(E): 0.033

What does |3 + 5i] equal?

(B) 1.67
{O) 397
(D) 5.83.

‘ (E) -8.00

. A committee of 3 mathematics majors and 4 history

majors is to be chosen from a group of 20 mathematics
majors and 16 history majors, respectively. How many
different committees can be fi : .

8 B
& =

(D) 2,074,800

" (E) 286 x 101

176

.~ L. + ' STOP,

.

USE THIS SPACE FOR SCRATCHWORK.

Pt Do A

IF YOU FINISH BEFORE TIME IS CALLED, YOU MAY CHECK YOUR WORK ON THIS TEST ONLY
: "DO NOT TURN TO ANY OTHER TEST IN THIS BOOK. P




Carag s TABLE B 4v#1s8w

| Score Conversion Table -
Msthematics Level [IC Subject Test, Form 3PBC
Raw ' College Bourd Raw CoDege Doard
- 80 800. 15 560
49 S ] 14 540
48 800 13 530
47 800 12 $20
4 - 800 1l 500
45 800 10 450
a4 800 9 470
3 800 (] 460
4 790 . 7 440
4 780 6 430
40 770 [ 410
» 760 4 400
b1 ] 750 3 380
37 740 2 an
3% 730 1 360
] 720 0 T340
M 710 -1 0
© .33 700 -2 310
a2 €90 -3 300
N 690 - 280
30 680 -5 270
29 670 -8 250
28 660 -7 240
27 650 -8 220
26 640 -9 110
28 630 =10 200
u 630 =11 200
23 €20 -12 200
2 . 610
21 600
20 590
19 590
18 580
17 s70
16 560

Reviewing Your
Test Performance

Aftet you have scored your tesl, you shovid take some fime
1o consider the following points in relation fo your perfor-
maince on the test. I

ODidwumundﬁmbcMwunodndlboondd
the lest? ' : &
lyoudid,younwwuﬁbcomidit pocing yourseff g
W.Fummph,youmuybmsperﬂbomud\lim -
working on one or two difficth quesfions. ‘A befter
opprooch might hove been fo continue the test and return
bﬂnmoqusﬁon&nﬁuywhodaﬂimpbdquwh
remaining questions on the lest. o

oDidyoubkoobmﬁmmdinghdincﬁ'mbr
the resif o ,
The directions in this test are the some as those in the
Mathemotics Leve! IIC Subject Tests now Being odminis-
tered. You will sove time when you toke the test if you
become thoroughly fomilior with them in advance.

® How did you hondle questions you were vnsure off
# you were obie 1o eliminaie one or more of the onswer
choices and you guessed from the remaining cholces,
then your opprooch probobly worked 1 your advon-
toge. On the other hand, omilfing qqosﬁm’s'ﬁbpﬂ%
you have some knowledge or guessing ansiwers haphaz- -
ordly would probably be © misicke. L °

© How difficull were the quesfions for you compared with':
other studenis who jook the fest® yoe
Bynhrﬂngb'hbh&ywennﬁndwhow;;diﬁﬂl
test. The righthond column in the table wlls: you whot
percantoge of this group onswered the quesfion correctly.
A question that wos answered '
sveryons in the group is :
Quastion 3, for exomple, wos answered - correctly by
93 pnumdhmd.nhhhwmplo.-_gnﬂndu
hand,. question 31 wos onswered correcily -
40 percent.

stoodll\odimdiomfumporl' 7
the questions were 30 easy thot you dié

B

much fime on them as you might hoves.



to the SATIL: Mathematics

Level
Percentage of Students Answering Esch Question

[IC Subject Test, Form arB

Percentage
P . ol Stndenta Lt
Answering
Querdan Carect e Ouestion | Cuestion Casreet
Numbwr Answes, Right Wrong Coevectly® Number Answer Right Wreng
S | B ] 26 A A ,
2 ) ] 86 27 L o :
s D ” 2 D 66
4 B o % C B
5 c 80 0 D €1
é B 90 81 D 40
- ‘B n” n B 47
8 B [ 3 D - G0
9 A 70 M C . a8
10 C 95 a8 A 3 .
11 C 91 36 E 43
12 C 9 3 N = ; 48
13 D ( » - 38 D i ‘3 F
14 C 20 3 A Ly S
15 B 0 40 B 6
16 D n a B ‘61
17 D & - € 13
18 B % 43 B a6
19 A 74 44 A n
20 B 70 4 B ' g 1)
21 B 1] 46 B .
2 L] 59 47 B
3 C & 48 B
Cah A 86 49 D
L .25 B 54 S0 D .

'I'I.Jcp_uml_-pnhndnnmd&WMhammdammmd&lulndtheunii‘lh‘ﬂ‘”
vlnnmmvusm.Mmyhnninnhdiudnd&ndninﬁﬁnﬂqdnfnﬁnﬂnmtnhmmmddhiﬁl y
&:WchuqplulMTEMW‘C&MT&M&MMMW&&&“%“ .

Finding Your College

Board Scaled Score

When you toke SAT i: Subject Taity, the scores sent 1o the
colhgnyouspocifymnporbdonhColhgoBooid
scole, which ronges from 200 10 800. You con convert yous
procﬁcchslmbomlod scorobyuslngTeth.Toﬁnd

scoled score, locote yout row score in the lefi-hond

column of Toble B; the coresponding score in the'righthond
_ column is your College Board scoled score. For exomple, &
row mlemﬁispcrﬁcduodiﬁonthl:
MmhomoﬁcsbvtlIICSubiodTodeorrupondsbuCoﬂogc
Board icoled scoreof 770. - :

' lcwmqpm'éonwrhdbmbdmubmmi\d
emunndononyom*adiﬁondopurﬁwh!wl*d

: Tou'incomporublobﬂnsummhdmnmmodonw :

-

178

other edition of the same Subject Test. Becot
fions of tests may be slightly easier or wlt |
others, College Boord scoled scores are odjusied 30 |
.they indicats the same leve! of parformance regor
the edition of the test icken ond the ability |
bkuﬂ.Thm.!ummph.omoHQQ";
o test foken of @ parficulor odminisirotion
wmhddochhwmonimamd@' )
odition of the tes token ot o different odi
When you foke the SAT i: Subject Tests
odminisiation, your scores ore ikely 1o
from the scores you obioin on the fests in.
perform ot differsnt levels ot differerit
unrelated 1o the tests themsetves. The pF
olso limied becouse ¥ represents only
possible questions thot could be osked.




